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39 U-UF H e 29 WA & Y e 3ard §

There are in all 29 questions in this question paper. All questions
are compulsory.

Tl &g MeiRa 316 396 T0g 3ifdd §

Marks alloted to the questions are mentioned against them.

TS T Bl SIFYadD UG T T 3R alfore|

Read each question carefully and answer to the point.

e R 1 SEAdedId U | 39 U9 & I WU & IR H IR fadbed
& T8 €| ) fased AR 310! JARYRAD! | feTRae| oo S 2 9 7
d& Hi¥ea 3o yeH §

Question No. 1 is multiple choice question. Four options are given
in answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type
questions.

TS TR 8 § 17 dd TP & I AT 40 I | alfore|

Question No. 8 to 17 are to be answered in about 40 words each.
T2 T 18 ¥ 25 b TS Pl ITR I 100 T&i § cifore|
Question No. 18 to 25 are to be answered in about 100 words
each.

Y9 T 26 | 28 AP YD P JAX T 250 &l | alfore|
Question No. 26 to 28 are to be answered in about 250 words
each.

(viii) T&=T ST 29 B/ SR w2 &1 forear 3R Fdemgar afsr’|

(ix)

Question No. 29 is Case/Source based question, to be answered
as directed.

=Y Y9-U H GHY R DI [dbed Tal & qenfi Sidua ye=i & ardRe fasea
v fopar mar €1 O 9 § $act v fadew & & 3T alfore|

There is no overall choice in this question paper, however, an internal

choice has been provided in few questions. Attempt only one of
the given choices in such questions.
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1. (@) S Aifd 9ifSd B aTer YUH 39 DI AT? 1

(y = (i) 9Rd
(i) G 5T FHRDT (iv) EWus
Who was the first country to announce the population policy?
()i China (i) India
(ii)  USA (iv) England

(W) 98 URAR 5 oo q1dr-fUar g 39 sifdanzd sw & &, deard &- 1
(i) ¥ IRaR (i)  HgH IRAR
(i) ARG URAR (iv) g gRar
A family consists of only parents and their unmarried children, is known as-
(i) Nuclear Family (i) Joint Family
(iii)  Matrilocal Family (iv)  Patrilocal Family

(1) Yl ST @ 3TGeRon e &P | 1
(i) IR (i)  TEd B
(i) ©H.OA. AHaE (iv) T
Who has given the concept of Dominant Caste?
(i) Yogendra Singh - (i) Irawati Karve
(iii)  M.N. Srinivas (iv) S.C. Dube

(u) faem & fod 3T & 3aid 3Rl &1 39 B T TT- 1
(i)  3Je 14 (i) e 15
(i) 3T 16 (iv) 3F®e 17
Which article of the constitution abolished untouchability-
(i) Article 14 (i) Article 15
(iii)  Article 16 (iv) Article 17

(5) SeT H |l - faxvelt 31 &1 Adea fooem foar? 1
(i) TS FHES T (i) ©H.3N. IR
(i) ~ Shfear gt (iv) W& e
Who did lead the anti-sati campaign in Bengal?
() Raja Ram Mohan Roy (i) M.G. Ranade
(iii)  Jotiba Phule (iv) Mahatma Gandhi

(T) ARA H IR 5T TR B b R & - 1
(). o (i) <=
(i) TR (iv) 38 I P58
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fRder -

How many tier are there in Panchayati Raj system in India?

(i) Lilwo (ii) # . Three

(i) = Folr (iv) None of these

HRA H ERA St &1 TRA 659 a21e # gare : 1
(i) 1950 & 2P H (i) 1960 & 2P H

(i) 1970 & T2AD H (iv) 1980 & S=IH H

In which decade did the Green Revolution take place in India?

(i) 1950's (i) 1960's

(iii) 1970's (iv) 1980's

R TRER & B T PRIGH JsNR 9 WRISHIR I IHd &1 27 1
(i) 9 e (i)  SMAMR 9Rd

(i) Hd 37 A (iv) 3IRIB I

Which scheme/s of Government of India make employment and self-
Imployment possible?

(i) Mudra Yojana (i) Atmanirbhar Bharat

(iii)  Make in India (iv)  All the above

T AT -1 & 3WT &l WUsi H, &l HAAT DI ADBUH (A) T2UT BRI (R) P Y
¥ fafrea fovan won &1 Fr=fefaa et (i), (i), (i) T (iv) § & IR 3907 &
3R afore|

Direction :In next two parts of Question No. -1, there are two statements labelled

423 (IIP)

as Assertion (A) and Reason (R). From the following options (i), (ii), (iii)
and (iv), select their correct answer.
(i) AGATR SN &l & 9T R, A D &l AT BT &

Both A and R are correct and R is the correct explanation of A.
(i) ATATR A FEI & IR R, A DI F&I ARAT &l BT &

Both A and R are correct but R is not the correct explanation of A.
(iif) A F&l & R R Teid 2

A is correct but R is incorrect.
(iv) AT R ! Tod &l

Both A and R are incorrect.
FREE (A) : 4 g siftifem WRT # YfH GUR & Uh I 4 K ©
@RI (R) : 3 BRI & ded U faftre aRaR & fore s 3@ o ST

JHT 9T IR & TS| 1
Assertion (A) : Land Ceiling Acts were a major category of land reforms
in India.

Reason (R) : These laws imposed an upper limit on the amount of land
that can be owned by a particular family.

[3] [P.T.O.



(57) 3B (A): ¢, T, DI W U9 a0d HRA & T2H YD JaT I
PRI (R) : UTE, IS, DICIHIT, STELS Bd AT, HRd H 793 3itefie TR
gl 1
Assertion (A) : The first modern industries in India were Jute, cotton,
coal mines and railways.
Reason (R) : Chennai, Mumbai, Kolkata, Bengaluru and Pune are main
industrial cities in India.

2. Sree fORifis &1 dawer sy &9 1
To whom population pyramid is relatated to?

3. U THTST B R e or? 1
Who was the founder of Satyashodhak Samaj?

4. WSS Yol BF STERON fova- &P 1
Who has given the concept of Social Capital? ‘

5. “fiqel (FICCI) U aaTd TYg &1 I8 B I & 37aT A ? 1
"FICCI is a pressure group.” Is this statement True or False? '

6. IO TSt ¥ ST B TaH HE@yul e 34T 6P 1
What is the most important source of livelihood in rural society?

7. HRd GRBR A IERIGRUT B Afel P TS ? 1
When did Government of India follow the policy of liberalisation?

8. - TPHIIDRUT Bl TEMROT I 37T FAT THS &P 2
What do you understand by the concept of Sanskritisation?

9. g g Senid § 3R §arsd| 2
Differentiate between caste and tribe. :

10. ot fawwar aftsal o fouwamt & &9 Rmae 2
How is social inequality different from the inequality of individuals?

11. AmEfole 31Uds T SESHR a9 &2 2
What is social exclusion?

12. eHfERUEr &1 o 31ef 82 2
What is meant by secularism?

13. 9Rd ¥ 3ikmiexor ofeaH died & faa TeR firg &7 2

How the industrilisation in India is differ from the western model?
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14.

1:5%

16.

175

18.

1)

20.

21

22.

235

24.

25.

gHTHS HoTGR' DI JTERUT BT THIS | 2

Explain the concept of 'footloose labour'.

‘3itenfires eRoT T Brar &2 2
What is 'deindustrialisation'?

3ifenfie TATeT o g7 foRivan aarsd| 2
Write the main features of industrial society.

AT 3TTRIeH o 31T a7 THeT &2 2
What do you understand by social movement?

HRd H fIRA T SN-J&9 3MUd & Bis Y BRo a5 | 3
Write any three factors responsible for declining sex ratio in India.

HIgaeT, e & fa veR firg &7 3
How matriliny is differ from matriarchy?

A # SicaTal 3 e §8 JE i 9 89 3

What are the major issues of concern to adivasis today?

i fafderdr o o 3ref &2 YR & U 3o fafaeramgof aur &t 9T e 22
3

What is meant by cultural diversity? Why is India considered to be a very diverse

country?

. 3di / OR

el 3 Wik Rivea B wE gkt saed|

Write the major challenges for cultural diversity in India.

3ituf~af¥Te o1 & 3iENieRor °§ YR FHIeis SXaHT ®f fhd YHR THTdd fdar om?
3

How had industrialisation impacted Indian social structure during colonial period?

YRAT AAe™ gRT UarIdl & Y& & T8 fdral A Sihdl @ JRald@l &l 3eeid

Bifote| 3

Write any three powers and responsibilities delegated to the Panchayats by

Indian Constitution.

JERIPBRUT = ASAIR & el B {51 ybR yenfae fesar &2 3
How the liberalisation affected emplolyment patterns in India?
e TaIEHT & T HRUT IR &7 | 3

What are the factors responsible for peasant movements?
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26. '3 & IR ‘g ' F 71 371 8 BRI W DI 6 77 X H fR1ae GeR B
3T e ey &t e &2 5
What is meant by 'birth rate' and 'death rate'? Explain why the birth rate is
relatively slow to fall while the death rate declines much faster?

3@ / OR
RN & SRR Jig & Rig=a & e difore|

Explain the Malthusian theory of population growth.

27. YR PR HTgRT q Fas ) aTel HoTGR] o ol df R&TT & fofl MU SRR TRBR
3 o1 3T fobe & 3rerar @ fe S anfee? 5
What measures do you think the government has taken, or should take to
protect the rights of landless agricultural labourers and migrant workers?

3qdr / OR

T 3 Ugd WRa § v v v g guR! &1 3e il 79T 39 TRomE! &
RN HifoTe|

Write the major land reforms in India after independence and explain their
consequences.

28. YRd ¥ Afea =i & o TR & g9ssd | 2 5

Explain the different phases of woman's movement in India.

31di / OR

TE T R AHISIS STRICHT H F9T 3<R &7 F1 9Rd H 8 T [T AHIIP ST_lemT
H W 9 fopar ST T @2
- Distinguish between old and new social movements. Is it possible to make a
clear distinction between old and new social movements in India?
29. FafoRea sreee @1 @amyds ufer iR 596 - faw TTE yeHi & FR alfore-
Read the following passage carefully and answer the questions given below-
AR FHIS 39 IS HIIET B B & il YRR & o7 &7 T R BIa1 &, Afeh I
g S15TR a1 &3l | §16% &l & | TR T91sT st IR &1 IR-Irsteor e iR-
STSTRY 1T 81T & 5= 31evT-31e fs wvemait 3k |ieT o fFmafor a1 & foe e
H IRER 3 ST & | I8 Aigsg AmiResar &1 &7 & T8t afs e amifsie g8 w T
TR &, 5T BT THIAT B o DI B & 37T 39 THeT 31T ANl IEd &, 310
e fadt @ UR1 &’ &1 T I & o fafim orf & fore wweie e €1 59 &
H AR ST & TR KT §1C T Wifesd e, | a1 IR0 SN 21 & | 399 IeHiiad
423 (IIP) [6]




oo, SRR @ AR, TR FH, IR-IRSR T, enfifes Get 3R 377 IR &
e dca Al e 81 &1 ATRe Fwist # enfie 89 o §eg seilfear a8 € fib wie
3154 i =6t 8 anfee siR I8 faggs wu & aiftrfsaes gHs! S are de =1 811 g9
YHR, R MRS F1=1 &1 fewn & &, Fafes st Senfasi e &

Civil society is the name given to the broad arena which lies beyond the private
domain of the family, but outside the domain of both state and market. Civil
society is the non-state and non-market part of the public domain in which
individuals get together voluntarily to create institutions and organisations. It is
the sphere of active citizenship : here, individuals take up social issues, try to
influence the state or make demands on it, pursue their collective interests or
seek support for a variety of causes. It consists of voluntary associations,
organisations or institutions formed by a groups of citizens. It includes political
parties, media institutions, trade unions, non-governmental organisations (NGOs),
religious organisations and other kinds of collective entities. The main criteria for
inclusion in civil society are that the organisation should not be state-controlled
and it should not be a purely commercial profit-making entity. Thus, Doordarshan
is not a part of civil society, though private television channels are.

(b) ARG FHTST Bl GRUMNG HIfSw| 2
What is Civil society?
(@) MRS JHIST H T1-adT INiHet fbu 371 ddba &9 1

What entities can be included in Civil society?

() “gREeH AR FHIST &I f&=T &1 ©, STafc (ol Cellidar o-d &1 BRT qargd |

2

Give the reason, "Doordarshan is not part of civil society, though private
television channels are."

% Xk %k Xk %k
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